Zst. Havli¢kav Brod
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2st. Havlickuv Brod 8ab 223,009 39,622 C R65 1 11,00 | 300 0 0 v K 6 8+2 12 D H 26 2
2st. Havlickuv Brod 9ab |223,009| 39,622 C R65 1 11,00 | 300 0 0 v K 6 8+2 12 D H 26 2
2st. Havlickuv Brod 19ab [223,246| 33,230 C S49 1 9,00 | 190 0 0 v K 6 8+2 12 D H 26 2
2st. Havlickuv Brod 20ab [223,292] 39,2441 C R65 1 9,00 | 300 0 0 v K 6 8+2 12 D H 26 2
2st. Havlickuv Brod 21ab [223,340]39,244] C R65 1 9,00 | 300 0 0 v K 6 8+2 12 D H 26 2
2st. Havlickuv Brod 24 |223447|41594| OBLJ | S49 | 1 | 1200 500 | 800 | 307 | P K 3 442 0 D c 7 2
2st. Havlickuv Brod 26 [223,721133,231| J S49 1 9,00 | 300 0 0 L K 3 4+1 0 D C 7 1
2st. Havlickuv Brod 29 [223,793]33231| J S49 1 9,00 | 300 0 0 L K 3 4+1 0 D C 7 1
2st. Havlickuv Brod 6 |117,321] 33,608 J R65 1 11,00 | 300 0 0 L K 3 4+2 0 D C 7 2
2st. Havlickuv Brod 7 1117,321] 33,608 J R65 1 11,00 | 300 0 0 L K 3 4+2 0 D C 7 2
zst. H.Brod-stan.Tunel | 4 [116,311] 33,608 J S49 1 11,00 | 300 0 0 L K 3 4+2 0 D C 7 2
celkem 198 | 22
Typ srdcovky: K propojky ANO
-
SK propojky ANO =
o
ZMB3 zkraceny monoblok propojky NE 3
ZPTZz monoblok propojky NE ﬁ'
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